Page 1	To Collection £	9,612 5	0
--------	-----------------	---------	---

Example Take off	PREL	IMINARIE	S / GENERA	L CONDITION	SNC
	Qty	Unit	Rate	£	р
Collection					
Total from Page 1			£	9,612	50
Page 2		To	Summary £	9,612	50

Exa	Example Take off EXISTING SITE / BUILDINGS / SERVICES					CES
		Qty	Unit	Rate	£	р
а	C EXISTING SITE/BUILDINGS/SERVICES C90 Alterations - spot items Removing fittings and fixtures Work to Slapping to form new opening to Sun Room		item	2135.00	2,135	00
	Samole					
	Page 3		То	Collection £	2,135	00

Example Take off	EXIS	STING SIT	E / BUILDING	GS / SERVI	CES
	Qty	Unit	Rate	£	р
Collection					
Total from Page 3			£	2,135	00
			X		
		~	0		
		(),			
~0,					
CONT					
Page 4		То	Summary £	2,135	00

Example Take off GROUNDWORK					ORK	
		Qty	Unit	Rate	£	р
	D GROUNDWORK					
	D20 Excavating and filling					
	Excavating by machine					
	To reduce levels, maximum depth not exceeding					
а	0.15 m	4	m³	27.64	110	56
	Trenches, width not exceeding 0.300 m, maximum depth not exceeding					
b	650 x 200 mm foundations	3	m³	51.15	153	45
	Disposal					
	Excavated material; off site to tip average 15 km from site; bulking factor - 1.25					
С	loaded by machine direct from excavations	7	m³	65.41	457	87
	Filling to excavations					
	Imported MOT Type 1 material		1			
d	not exceeding in layers allowed 150mm deep to be remeasued on site.	3	m³	72.50	217	50
	Filling to make up levels					
	Imported sand					
е	not exceeding 0.25 m to foundation bottoms	1	m³	170.91	170	91
	Surface treatments					
_	Compacting					
f	surface of filling	23	m²	6.75	155	25
	Page 5		То	Collection £	1,265	54

Example Take off GROUNDWORK							
Qty Unit Rate £ p							
Collection							
Total from Page 5			£	1,265	54		
	500						
Page 6		То	Summary £	1,265	54		

Example Take off	IN SITU CONCF	RETE / LA	RGE PRECA	ST CONCR	ETE
	Rate	£	р		
Collection Total from Page 7			£	2,220	10
Sample					
Page 8		To	Summary £	2,220	10

Exa	ample Take off				MASOI	NRY
		Qty	Unit	Rate	£	р
	F MASONRY					
	F10 Brick/Block walling					
	Precast concrete dense aggregate blocks to BS 6073					
	Walls					
	100 mm solid sub to Sun Room	9	m²	87.80	790	20
	140 mm solid sub to Sun Room	9	m²	87.80	790	20
	100 mm solid to Super walls in Sun Room	10	m²	119.50	1,195	00
	F30 Accessories/Sundry items for brick/block/stone walling					
	Forming cavities					
	50 - 100 mm cavities in hollow walls with 225 mm wall-ties at 5 per m2 using					
	galvanised butterfly ties	27	m²	8.78	237	06
	Cavity trays					
	Type X Cavitray without lead, 40 degree pitch Intermediate tray					
	half brick skin of cavity wall	5	m	116.25	581	25
	Air bricks					
	Provide and build in air-bricks - nominal size					
	225 x 75 mm galvanised	6	nr	5.64	33	84
	Vents					
	Ventilation for heat recovery systems	_				
	Reform and core hole for New Extractor Fan	1	nr	172.73	172	73
	F31 Precast concrete sills/lintels/copings/features					
	Architectural Stone					
	Cills	4		00.70	0.40	40
	150 x 67 x 1500 mm Lintels	4	nr	60.78	243	12
	Catnic CTF5					
	Sun Room 3.1 m	3	nr	202.98	608	94
	Suit Room 3.1 m	3	111	202.90	000	34
	Page 9		Tο	Collection £	4,652	34

Example Take off				MASOI	NRY
	Qty	Unit	Rate	£	р
Collection					
Total from Page 9			£	4,652	34
	SCO				
Collul,					
Page 10		То	Summary £	4,652	34

Example Take off	STRUCTUE	RAL / CAR	CASSING M	ETAL / TIM	BER
	Rate	£	р		
Collection Total from Page 11			£	7,815	87
Sample					
Page 12		To	Summary £	7,815	87

Exa	ample Take off			CLADDIN	G / COVER	ING
		Qty	Unit	Rate	£	р
а	H CLADDING/COVERING H21 UPVC weather boarding only to new areas White PVC to fascia and soffit H60 Plain roof tiling	16	m	51.81	828	96
	Concrete interlocking tiles Marley Anglia concrete interlocking tiles; granular finish					
b	Roof coverings; to 100mm headlap on breathable membrane and fixed to 50 x 38mm impregnated softwood battens Counter-battening	23	m²	97.48	2,242	04
	Impregnated softwood counter-battening at 600 mm centres nailed to timber		(
С	50 x 25 mm Roof ventilators	23	m²	9.33	214	59
d	Glidevale rafter ventilators, fixed with nails Marley Modern vent tiles Glidevale soffit ventilators, fixed with nails	6	Nr	37.88	227	28
е	Type SV603 H74 Zinc sheet coverings/flashings	15	m	13.69	205	35
£	Roof coverings Sheet zinc/titanium alloy					
f	verge detail flashing to existing house, Lead Code 4	5	m	85.00	425	00
	5					
	Page 13		То	Collection £	4,143	22

Example Take off CLADDING / COVERING						
Qty Unit Rate £ p						
Collection						
Total from Page 13			£	4,143	22	
Page 14		То	Summary £	4,143	22	

Exa	ample Take off			WA	ΓERPROOF	ING
		Qty	Unit	Rate	£	р
a b	JWATERPROOFING J40 Flexible sheet tanking/ damp proof membranes Tanking and damp proofing Polythene medium weight sheet underlay lapped 150 mm at joints horizontally under ground floor slab and under floors on top of joist air tight membrane	23	m² m²	3.88 7.63		24
	Page 15		То	Collection £	234	21

xample Take off			WA ⁻	ΓERPROOF	ING
	Qty	Unit	Rate	£	р
Collection					
Total from Page 15			£	234	21
	SCI				
COMMO					
Page 16		To	Summary £	234	21

Exa	ample Take off	LININGS	/ SHEAT	HING / DRY	PARTITION	IING
		Qty	Unit	Rate	£	р
	K LININGS/SHEATHING/DRY PARTITIONING K10 Plasterboard drylining/partitions/ceilings Linings, gypsum plasterboard to BS 1230 Fixing with screws to timber or steel stud framing including all wall make up including insulation.					
а	Kit walls 12.5 mm Plain Wallboard over 300 mm wide kit walls allow as new block work measure Fixing with screws to ceilings Insulated plasterboard, fixing with screws to timber backgrounds	20	m²	156.25	3,125	00
b	62.5 mm Kingspan Kooltherm K18 over 300 mm wide K20 Timber board flooring/sheathing/linings/casings Flooring	27	m²	35.56	960	12
С	Chipboard Type C4 flooring tongued and grooved all edges, width exceeding 300 mm, thickness To ground floor. Roof decking OSB3	19	m²	21.20	402	80
d	18mm OSB3 exceed to sloping to main roof sarking	27	m²	36.04	973	08
	6					
	Page 17		То	Collection £	5,461	00

Example Take off	LININGS	/ SHEAT	HING / DRY	PARTITION	IING
	Qty	Unit	Rate	£	р
Collection Total from Page 17			£	5,461	00
Sample					
Page 18		To	Summary £	5,461	00

Exa	ample Take off		WI	NDOWS / DO	ORS / STA	MRS
		Qty	Unit	Rate	£	р
	L WINDOWS/DOORS/STAIRS					
	L10 Windows/rooflights/screens/louvres					
	uPVC Windows					
	White					
а	1500 x 1200 to front Pc sum £ 890.00	2	nr	1260.31	2,520	62
	Roof windows					
	Velux Centre Pivot Windows With Toughened Outer Pane GGL					
b	GPL 600x 980mm Size TBC by builder	3	nr	895.64	2,686	92
	L20 Doors/shutters/hatches					
	UPVC Doors					
	Doorsets PC sum for supply £3000					
С	3100 x 2100mm Bio fold Doors	1	nr	4490.31	4,490	31
	Page 19		То	Collection £	9,697	85

Example Take off		WI	NDOWS / DO	OORS / STA	NRS
	Qty	Unit	Rate	£	р
Collection					
Total from Page 19			£	9,697	85
				•	
	500				
CONTIN					
Page 20		To	Summary £	9,697	85

	ample Take off			SURF	ACE FINIS	HES
		Qty	Unit	Rate	£	р
a b	M SURFACE FINISHES M20 Plastered/Rendered/Roughcast coatings Retarded hemihydrate gypsum ("Thistle") plasters to BS 1191, Class B 3 mm board finish on walls or ceilings including scrimming joints over 300 mm wide allowance will be re measured Roughcasting over 300 mm wide	40	Unit m²			p 00
	Page 21		То	Collection £	2,317	50

Example Take off			SURF	ACE FINIS	HES
	Qty	Unit	Rate	£	р
Collection					
Total from Page 21			£	2,317	50
	SCI				
Control of					
Page 22		To	Summary £	2,317	50

Example Take off		BU	ILDING FAB	RIC SUNDF	RIES
	Qty	Unit	Rate	£	р
P BUILDING FABRIC SUNDRIES P10 Sundry insulation/proofing work/fire stops Insulating quilts Loft insulation, thermal insulating quilts Celotex TB4000 Rigid Insulation board (min75mm) P20 Unframed isolated trims/skirtings/sundry items Skirtings, picture rails, architraves and the like Wrought hardwood skirtings b 25 x 150 mm, moulded	27	Unit m²	27.66 15.35	£ 746	82
Page 23		То	Collection £	1,053	82

Example Take off		BU	ILDING FAB	RIC SUNDF	RIES
	Qty	Unit	Rate	£	р
Collection Total from Page 23			£	1,053	82
	CU				
Page 24		_	Summary £	1,053	

R DISPOSAL SYSTEMS R10 Rainwater pipework/gutters Unplasticised PVC rainwater pipework to BS 4576 68 mm pipework a fixed with brackets plugged to walls Unplasticised PVC gutterwork to BS 4576 112 mm half round gutters jointed and fixed with support and union brackets screwed to timber R12 Drainage below ground Excavation by machine, disposal of surplus excavation on site average 50 m from excavations Trenches for drain pipes not exceeding 200 mm nominal size, grading bottoms, earthwork support, average depth allownace for drainage pipework and connections Excavation by machine Trenches for drain pipes not exceeding 200 mm nominal size, grading bottoms, earthwork support and backfilling with excavated material; average depth d To move new Rodding eye, Allowance for fittings 1 N 750.00 750 00	Exa	ample Take off			DISPC	SAL SYSTE	EMS
R10 Rainwater pipework/gutters Unplasticised PVC rainwater pipework to BS 4576 68 mm pipework a fixed with brackets plugged to walls 3 m 17.06 51 18 Unplasticised PVC gutterwork to BS 4576 112 mm half round gutters jointed and fixed with support and union brackets screwed to timber 4 pionted and fixed with support and union brackets screwed to timber 4 pionted and fixed with support and union brackets screwed to timber 4 pionted and fixed with support and union brackets screwed to timber 4 pionted and fixed with support and union brackets screwed to timber 4 pionted and fixed with support and union brackets screwed to timber 4 pionted and fixed with support and union brackets screwed to timber 5 pionted and fixed with support and union brackets screwed to timber 6 pionted and fixed with support and union brackets screwed to timber 6 pionted and fixed with support and union brackets screwed to timber 7 pionted and fixed with support and union brackets screwed to timber 7 pionted and fixed with support and union brackets screwed to timber 8 pionted and fixed with support and union brackets screwed to timber 8 pionted and fixed with support and union brackets screwed to timber 8 pionted and fixed with support and union brackets screwed to timber 8 pionted and fixed with support and union brackets screwed to timber 8 pionted and fixed vith support and union brackets screwed to timber 8 pionted and fixed vith support and union brackets screwed to timber and the fixed with support and union brackets screwed to timber and the fixed with support and union brackets screwed to timber and the fixed with support and union brackets screwed to timber and the fixed with support and union brackets screwed to timber and the fixed with support and union brackets screwed to timber and the fixed with support and union brackets screwed to timber and the fixed with support and union brackets screwed to timber and the fixed with support and union brackets screwed to timber and the fixed with support and union brackets screwed to t			Qty	Unit	Rate	£	р
Unplasticised PVC rainwater pipework to BS 4576 68 mm pipework a fixed with brackets plugged to walls Unplasticised PVC gutterwork to BS 4576 112 mm half round gutters jointed and fixed with support and union brackets screwed to timber R12 Drainage below ground Excavation by machine, disposal of surplus excavation on site average 50 m from excavations Trenches for drain pipes not exceeding 200 mm nominal size, grading bottoms, earthwork support, average depth C allownace for drainage pipework and connections Excavation by machine Trenches for drain pipes not exceeding 200 mm nominal size, grading bottoms, earthwork support and backfilling with excavated material; average depth		R DISPOSAL SYSTEMS					
a fixed with brackets plugged to walls Unplasticised PVC gutterwork to BS 4576 112 mm half round gutters jointed and fixed with support and union brackets screwed to timber R12 Drainage below ground Excavation by machine, disposal of surplus excavation on site average 50 m from excavations Trenches for drain pipes not exceeding 200 mm nominal size, grading bottoms, earthwork support, average depth c allownace for drainage pipework and connections Excavation by machine Trenches for drain pipes not exceeding 200 mm nominal size, grading bottoms, earthwork support and backfilling with excavated material; average depth		R10 Rainwater pipework/gutters					
a fixed with brackets plugged to walls Unplasticised PVC gutterwork to BS 4576 112 mm half round gutters jointed and fixed with support and union brackets screwed to timber R12 Drainage below ground Excavation by machine, disposal of surplus excavation on site average 50 m from excavations Trenches for drain pipes not exceeding 200 mm nominal size, grading bottoms, earthwork support, average depth c allownace for drainage pipework and connections Excavation by machine Trenches for drain pipes not exceeding 200 mm nominal size, grading bottoms, earthwork support and backfilling with excavated material; average depth		Unplasticised PVC rainwater pipework to BS 4576					
Unplasticised PVC gutterwork to BS 4576 112 mm half round gutters jointed and fixed with support and union brackets screwed to timber R12 Drainage below ground Excavation by machine, disposal of surplus excavation on site average 50 m from excavations Trenches for drain pipes not exceeding 200 mm nominal size, grading bottoms, earthwork support, average depth c allownace for drainage pipework and connections Excavation by machine Trenches for drain pipes not exceeding 200 mm nominal size, grading bottoms, earthwork support and backfilling with excavated material; average depth		68 mm pipework					
b jointed and fixed with support and union brackets screwed to timber R12 Drainage below ground Excavation by machine, disposal of surplus excavation on site average 50 m from excavations Trenches for drain pipes not exceeding 200 mm nominal size, grading bottoms, earthwork support, average depth c allownace for drainage pipework and connections Excavation by machine Trenches for drain pipes not exceeding 200 mm nominal size, grading bottoms, earthwork support and backfilling with excavated material; average depth	а	fixed with brackets plugged to walls	3	m	17.06	51	18
b jointed and fixed with support and union brackets screwed to timber R12 Drainage below ground Excavation by machine, disposal of surplus excavation on site average 50 m from excavations Trenches for drain pipes not exceeding 200 mm nominal size, grading bottoms, earthwork support, average depth c allownace for drainage pipework and connections Excavation by machine Trenches for drain pipes not exceeding 200 mm nominal size, grading bottoms, earthwork support and backfilling with excavated material; average depth		Unplasticised PVC gutterwork to BS 4576					
screwed to timber R12 Drainage below ground Excavation by machine, disposal of surplus excavation on site average 50 m from excavations Trenches for drain pipes not exceeding 200 mm nominal size, grading bottoms, earthwork support, average depth c allownace for drainage pipework and connections Excavation by machine Trenches for drain pipes not exceeding 200 mm nominal size, grading bottoms, earthwork support and backfilling with excavated material; average depth		112 mm half round gutters					
Excavation by machine, disposal of surplus excavation on site average 50 m from excavations Trenches for drain pipes not exceeding 200 mm nominal size, grading bottoms, earthwork support, average depth c allownace for drainage pipework and connections Excavation by machine Trenches for drain pipes not exceeding 200 mm nominal size, grading bottoms, earthwork support and backfilling with excavated material; average depth	b		14	m	16.94	237	16
excavation on site average 50 m from excavations Trenches for drain pipes not exceeding 200 mm nominal size, grading bottoms, earthwork support, average depth c allownace for drainage pipework and connections Excavation by machine Trenches for drain pipes not exceeding 200 mm nominal size, grading bottoms, earthwork support and backfilling with excavated material; average depth		R12 Drainage below ground					
nominal size, grading bottoms, earthwork support, average depth c allownace for drainage pipework and connections Excavation by machine Trenches for drain pipes not exceeding 200 mm nominal size, grading bottoms, earthwork support and backfilling with excavated material; average depth		·					
Excavation by machine Trenches for drain pipes not exceeding 200 mm nominal size, grading bottoms, earthwork support and backfilling with excavated material; average depth		nominal size, grading bottoms, earthwork support,			0		
Trenches for drain pipes not exceeding 200 mm nominal size, grading bottoms, earthwork support and backfilling with excavated material; average depth	С	allownace for drainage pipework and connections		item	1008.78	1,008	78
nominal size, grading bottoms, earthwork support and backfilling with excavated material; average depth		Excavation by machine					
d To move new Rodding eye, Allowance for fittings 1 N 750.00 750 00		nominal size, grading bottoms, earthwork support and backfilling with excavated material; average	500				
	d	To move new Rodding eye, Allowance for fittings	1	N	750.00	750	00
Page 25 To Collection £ 2,047 12		Page 25		То	Collection £	2,047	12

Example Take off			DISPC	SAL SYSTE	EMS
	Qty	Unit	Rate	£	р
Collection					
Total from Page 25			£	2,047	12
Page 26		То	Summary £	2,047	12

	Example Take off MECHANICAL HEATING / COOLING / REFRIGERAT				ION
	Qty	Unit	Rate	£	р
T MECHANICAL HEATING/COOLING/REFRIGERATI SYSTEMS Single panel radiator supplied by client various sizes to be confirmed					р

Example Take off MECHANICAL HEATING / COOLING / REFRIGERATION				ION	
	Qty	Unit	Rate	£	р
Collection Total from Page 27			£	225	00
Sample					
Page 28		To	Summary £	225	00

Collection Qty Unit Rate £ p Total from Page 29 £ 2,037 50 Total from Page 30 £ 0 00	Example Take off	ELECTRICAL SUF	CTRICAL SUPPLY / POWER / LIGHTING SYSTEMS			EMS
Total from Page 29 Total from Page 30 £ 2,037 50 £ 0 00		Qty	Unit	Rate	£	р
Total from Page 30 © 00	Collection					
Total from Page 30 © 00						
Sample	Total from Page 29			£	2,037	50
	Total from Page 30			£	0	00
				×		
				3)		
		10				
	\ O ₁					
	C.'O.					
Page 31 To Summary £ 2,037 50						
Page 31 To Summary £ 2,037 50						
Page 31 To Summary £ 2,037 50						
Page 31 To Summary £ 2,037 50						
Page 31 To Summary £ 2,037 50						
Page 31 To Summary £ 2,037 50						
Page 31 To Summary £ 2,037 50						
	Paç	e 31	To	Summary £	2,037	50

	Qty	Unit	Rate	£	Т
Summary	Qty	Offic	Nate	L	H
Cummary					
PRELIMINARIES / GENERAL CONDITIONS Page 2			£	9,612	5
EXISTING SITE / BUILDINGS / SERVICES Page 4			£	2,135	0
GROUNDWORK Page 6			£	1,265	5
IN SITU CONCRETE / LARGE PRECAST Page 8			£	2,220	1
MASONRY Page 10			£	4,652	3
STRUCTURAL / CARCASSING METAL / Page 12		~	£	7,815	8
CLADDING / COVERING Page 14			£	4,143	2
WATERPROOFING Page 16	6		£	234	2
LININGS / SHEATHING / DRY PARTITIONING Page 18			£	5,461	0
WINDOWS / DOORS / STAIRS Page 20			£	9,697	8
SURFACE FINISHES Page 22			£	2,317	5
BUILDING FABRIC SUNDRIES Page 24			£	1,053	8
DISPOSAL SYSTEMS Page 26			£	2,047	1
MECHANICAL HEATING / COOLING / Page 28			£	225	0
ELECTRICAL SUPPLY / POWER / Page 31			£	2,037	5